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Easy Questions

What is the radius of a circle if its diameteris 10 cm?
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Find the circumference of a circle with a radius of 4 cm.
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If the radius of a circle is 7 cm, what is its diameter?
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4. Findthe area of a circle with a radius of 3cm.
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(1 marks)
5. Whatis the radius of a circle with a circumference of 6TTcm?
oW 1 ¥
e
9~ \ (1 marks)
6. If the diameter of a circle is 12 cm, find its radius.
\Llxz b W
(1 marks)
7. Calculate the circumference of a circle with a diameter of 8 cm.
(1 marks)
8. Whatis the area of a circle with a diameter of 10 cm?
- t |
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(1 marks)
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9. Find the radius of a circle with a circumference of 10T cm.

|OTL 22ME (= == 5un 1)

(1 marks)
10. If the radius of a circle is 2.5 cm, what is its diameter?
A= AT = Sum (1)
(1 marks)
11. cCalculate the area of a circle with a radius of 6 cm.
2
U T UD )
(1 marks)
12. What is the circumference of a circle with a radius of 9 cm?
AT % 9 -\t W)
(1 marks)
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Moderate Questions

13. Find the length of the arc subtended by a central angle of 60° in a circle with a ra-
dius of 5cm.

(8))
51T
8 xaw(= 6—9._. XLRRC = )
6b0 &0 (2 marks)

14. Calculate the area of a sector with a central angle of 90° in a circle with a radius of
7 cm.

()
1. 9o D)
Q_ xTLf = L xTx -}’-:‘k‘ X(.;’T[:%?nha

b bo 300 (2 marks)

15. Find the radius of a circle with an area of 641T cm?

Q)
A Y (‘ -B U‘)
()Lt'ﬂ - “ ) = b )
(2 marks)
16. What is the diameter of a circle with a circumference of 181 cm?
w .
16
(2 marks)
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17. Calculate the area of a circle with a diameter of 16 cm.

L)
L
Coas= B, AT TTUX BT
- - )

(2 marks)

18. If a circle has a radius of 10 cm, find the length of an arc subtended by a central
angle of 45°.
(1) -
L5 - | = °—
@7 L AT = = xamxlo = LXMTLT T oy
10 3o

(2 marks)

19. What is the area of a sector with a central angle of 120° in a circle with a radius of

4cm?
@u ' Ly -
- - 2
e xnrl":!f_?_ xr\xlb-vé’\"bn- —_ LM lﬁ
360 360 3
(2 marks)
20. Find the radius of a circle with a circumference of 24 cm.
) Gy
=24
_ Kb = AT omd r=7 - L3
C =& 8(} o7 /Tt'
(2 marks)
21. Calculate the area of a circle with a circumference of 141 cm.
1 1 2
(= 2N and v “Than, A- Tl — X7 =4)Tium
(2 marks)
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22. If the radius of a circle is 9 cm, find the length of an arc subtended by a central an-
gle of 30°.
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(2 marks)

23. What is the area of a sector with a central angle of 270° in a circle with a radius of

6cm?
(v 1))}
@v 2 e 61: 3/ xsb“; Z.I‘IUV‘.L
7 X1 S0 Bin G (2 marks)
3,60
24. Find the radius of a circle with an area of 811 cm?.
(1 (1
- r‘ ‘.'c)UV)
y gt ond (mat Mo 0208
A = we P
(2 marks)
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Difficult Questions

25. Find the radius of a circle if the area of a sector with a central angle of 72° is 40TT

cm
Q) 1
] A =4ol .
@\/yﬁ0 W& = 2 wnfl =% x T >,
3o
wy

’ B e - g LR
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(3 marks)

26. Calculate the area of a segment with a central angle of 60° in a circle with a radius

of 8cm.
by
1 _ {b‘-l“ = um
Q w “(1 _ Eg_ f\TL*% - /l) N b
150 X IECL (@) R
|y, x@romte) Tlelb e
/<r'~m»f\‘&l R

(3 marks)

27. Find the diameter of a circle if the area of a sector with a central angle of 45° is
251 cm®.

(1
45 A = ooTt ond

-}JQO - \o E ﬂz 3 (3 marks)
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28. Calculate the length of an arc subtended by a central angle of 150° in a circle
with a radius of 12 cm.

() ( ') U)
= 1ol Qv
o) R VLS

Q X 9‘1‘[{ - @__Xlﬂ x\‘l' /1'2

20 2,60

(3 marks)
29. Find the area of a circle with a circumference of 50 cm.
50 _ZS ~ 19 0u~.
C =)W S0P07 =AY wnd il T
(8Y)
T\rl . xﬁ_%\ ~ \),.ul(m}' ()
“Then ﬂ =
30. Determine the radius of a circle if the length of an arc with a central angle of 120°
is 20T cm.
W)
()
O 2. - 120 n;m")il_f -1, 2 2nr
— X 340 3 vs, ~oT= T _
260 )
. bor
-2 Sort O = 30
co Zn —
(3 marks)

31. Calculate the area of a sector with a central angle of 240° in a circle with a radius

of 6 cm.
) Q) oY
1. -
G x :LL{ 0 x 1t X b — Mi‘m
--""—-.. 3‘)':‘
Hbo
(3 marks)
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32. Find the length of an arc subtended by a central angle of 90° in a circle with a di-
ameter of 20 cm.

)

(U)
f:a’l: ‘oo (y)

C)Q ,(:L“""a: ‘;qxlo"h =S
- -

Q/y)c e = 1,00

(3 marks)

33. Determine the area of a segment with a central angle of 120° in a circle with a radi-

usof5cm.
—T""‘"‘Q\‘ T grlsn (o y= ! ] 2
e;.. XT[(? . L?_‘o KTrYEZI:\/ y;Sn:?:.E_hwz ) 1 )= HLXS ™ sin(l20] T pg . o)
260 2po 5 B L. :(-%1 - 1S E uql o
(3 marks)
34. Calculate the radius of a circle if the area of a sector with a central angle of 135° is
5411 cm?.
1 _ LW
Q L. W5 r(lz'ij.gx'ﬂ{—g
¢ - — X7
2 " 2,00
e W
1. BUTXE L GuTT o0y =N
SoU (- Y
. (= v o™
L ]
(3 marks)
35. Find the length of an arc subtended by a central angle of 225° in a circle with a ra-
dius of 7cm.
p NS .5
2 6o >
36€
_ ST
— '_S________. ~, A > (3 marks)
‘I"
36. Determine the diameter of a circle if the area of a segment with a central angle of
150° and a height of 3cm is 181T- of3cm>.
(This problem is more complex and typically requires integration or special segment formulas,
so here's an approximate method using known results for simplicity.) Knowing the height and
angle, we would use segment area =Sector Area-Triangle area= {Sector area - Triangle area.
Given the sector area and solving for diameter involves steps outside typical GCSE coverage but
involves deriving radii from segment area and geometry principles. Marks: 3 (approximation
needed based on segment area principles)
(2 marks)
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